SYSTEMES.

X+2y+z=2 X+2y+z=2

X+2y+z=4
2x—y—-z=0 Xx—y—2z=-1, X—y—2z=-1
Xx—2y+2z=1 2x+y—z=3 2x+y—z=1
X+2y+2z=4 X+y+2z=4 N
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E‘I S Ty @ 2x +2y+2z=4
e xr2ym2z=d 3x+3y+3 6
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x+y+z=1 X+y+z=3 y
xt+y+z+t=4 X+y+z+t=4
o ) 2 2t=0
— — = — + 7 — =
2Xx +2y+2z=4 2x—y+2=2t=0 g2 yre
3x+2z—t=4 3x+2z—-t=4
3x+3y+3z=1
X_2y+3t:2 X—2y—3t:—4
X+y+z+t=4 X+y+z+t=4
X+y+z+t=4 ) - :
X—-y+z—-2t=0 2X—y+2z—-2t=0
2x—y+z—-2t=0
3x+27—t=4 3x+2z-t=4 3x+27- =3
X+2y—z+t=3 X+2y—z+t=3
—xX+y—2z+t=-1
X—2y-3t=—4 x—2y—-3t=-4

x+iy—(1—-1i)z=1
(1-i)x—2y—(1+i)z=0
Q+1i)x—3iy=1

Discuter suivant les valeurs de a :

X+ay—2z=a

ax+(a—2)y+(a-3)z=a-1
2X+(a—1)y+(a—2)z:3 X—2y+az=-2
2x—z=1 ax+y—2z=2
(a-1)x+(a+1)y+(a—2)z=a
( MAISON )

2y—z=1
ax+2y+(a—1)z=3

Indication : On pourra commencer par utiliser le 2y de la ligne 2 comme pivot.



